PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
7th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Rohit is seventeenth from the left end of a row of 29 boys and Karan is seventeenth
from the right end in the same row. How many boys are there between them in the

e 3
e 5
e 6
e Data inadequate / 3O STFHRI

Correct Answer :-3

2)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g, ab sl I TR Rew s F 0 2 -

If Sam attended the lecture, then he did his homework / af¢ I dw=R ¥ IfMfera T8 gam o1, ot
I 3(UAT gHa® fhar ol

e If Sam didn't attend the lecture, he didn't do his homework. / ¢ 9 ARR ¥ AfFfera g}
T T, I ST ST SHaSD ol fhar ATl

e If Sam did his homework, then he attended the lecture. / T TH 7 UAT SIS fHar U,
dl 9% doar o afdrfera gem U

e If Sam didn't attend the lecture, he did his homework. af¢ 99 dFa= & Af@fera =&Y garm a1,
O S giHa® faar ot

e If Sam didn't do his homework, then he didn't attend the lecture. /afe A9 A GNHT@W
51 foran o1, oY 9% QoA | afeferd gl gaim ATl

Correct Answer :-If Sam didn't attend the lecture, he did his homework. Hﬁ'@'ﬂ@lﬁ?ﬁ
aferferd gl goiT oI, df 3 giad T AT

()



3)
Question Stimulus :-

How many numbers are immediately followed by a letter in the following sequence? / BE)

3rgpH #, fbat wemt 9t 3§ e §¥d 916 T 9fEr 82

36$EZL>2*H4&KP9?#YSR7WATIN@5GB8<+?Q
e 4
e 3
e 5
e 8
Correct Answer :-3
4)
Question Stimulus :-

Which is the largest minerals producing state in India? / HIRd ¥ Jad qgsI el SdTG®H PIIT IS %?

e Bihar / f98R

® West Bengal / Uiy S

® Jharkhand / IRES

® Karnataka / m
Correct Answer :-Jharkhand / SIRES
5)

Question Stimulus :-

If A + B means A is the father B and B+C means B is the daughter of C, how is C related to A? / = A+B BT G{Zf%ﬁ? A, B

FIfiarg wd prc FT3A B & B, cHI TN B, At ¢, A A Y Tl @2
® Cisthe daughterof A/ C, A®I T 8
® Cisthesisterof A/C, APl 98¢
e Cisthe wife of A/ C, API Tl §

o CisthesonofA/C,ATﬂ"gﬁ%

@)



Correct Answer :-C s the wife of A / C, AP Uil @

6)
Question Stimulus :-

Which one of these is a port on the western coastline of India? / 3_-{3[ ¥ B9 91 HRd & Uiy e w® Tdh
T 2

® Marmagoa / wuimar
e Paradeep / URTGIY

® Tuticorin / ?j\?ﬂﬂﬁﬁ?
® Ennore / @?

Correct Answer :-Marmagoa / HqRmar

7)
Question Stimulus :-

Kanchan Ghat is located across river ./ - °Tc ':l'a R G %I

® Chambal/ Idd

e Narmada/ qﬁET
® Betwa/ é‘cl?:n

® Yamuna/ Y-l

Correct Answer :-Betwa/ Sddl

8)
Question Stimulus :-

Jhelum, Chenab and Ravi are tributaries of ./ @T’I’q, 19 3R 39 Gl W%l

® Indus / 33'\‘[

® Ganga /AT
® Brahmaputra / Se19ad

® Krishna / WIT

(4)



Correct Answer :-Indus / 589

9)
Question Stimulus :-

Juhi is the sister of Sunny. Sunny is the brother-in-law of Bobby. Divya is the sister of Bobby. How is Divya related to

Juhi? / S8t Tt Y I8 81 T Srelt o1 v 2 | fea it Y aea 81 foo g @ $9 dafita 82
* Sister /TG
o Sister-in-law / TG
 Daughter / S¢t
* Daughter-in-law / 9§
Correct Answer :-Daughter-in-law / 9g
10)

Question Stimulus :-

The Attorney-General of India is appointed by / HIRd T HET=ITaarG! _35 g ﬁg?ﬁ o siTar %l
® The Chief Justice of India / HIRd & q3T TR
® The President / Tl'g'qﬁl'
® The Vice-President / B'U-Tl'gqﬁf
® The Prime Minister / TUTTHAT

Correct Answer :-The President / TTgUfd

11)
Question Stimulus :-

The song ‘Saare jahan se accha’ was written by / M 9R S8 9 33T E:Ia? g1 foraaT T/ ot
* Bankim Chandra Chatterjee / STPHTIS TEoIl
® Mohammed Igbal / 'Fﬁgﬂ:l_d TPhdld

® Jai Shankar Prasad / ST Y&~ UHTS

e Rabindranath Tagore / IfASTY MR

(®)



Correct Answer :-Mohammed Igbal / Iﬁ?ﬂl‘q’ gPhdld

12)
Question Stimulus :-

Select the statement that is the negation of the statement "Some poems don't make sense.”

/ 39 YT P A ol 30 HYF BT URGIG § "$O Fiaane G gt g1
e Some poets don't make sense. / $ H3 7 TU B &l
¢ No poems make sense. / fodl Wt Hfaar &1 ordf =8Y gl
e Some poems make sense. / TS Hiaarsil BT 34 grar 31
e All poems make sense. / Tt wigarsit &1 ord gt 31

Correct Answer :-All poems make sense. / 94} Sfqareli &1 3 gar g1

13)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 93 fawe
g, st b @1 = F TR Re 1w $y= & wuF 2

If the article is impressive, then it gets selected. / If¢ @ YHERIE! 8, o 98 T9d giaT 2|

e If the article is not impressive, then it won’t get selected. /ﬂﬁaﬁmqﬁg’, ar
9% Taf~a T8l g g

e If the article gets selected, then it is not impressive. n%a@avﬁaa‘rm%, ?ﬁa'é'
YHTIRITE el 8

e If the article doesn’t get selected, then it is not impressive. / gfe g Taf—id 78l giar
2, o) 98 UHTael e 2

e If the article gets selected, then it is impressive. / af¢ a@ Faf~d gd1 8, oY 98 THTI=ITS
gl

Correct Answer :-If the article doesn’t get selected, then it is not impressive. / afe &g

Tafd 81 giaT g, 1 98 UHTaRITel 8! g

14)
Question Stimulus :-

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / T% &Hid AT
YRd, SUH 3R MRST & ol gadr 81 URA 12 T 3MR®T I M §, 3R 6 ¥ WU I M §, wafd

(6)



WU 6 He SMR®T I 3R 81 URA g 10 I I I 10 9 T HTH T @ Said STRIPHT I8 8 To A
A 8 T TP BTH BT § 3R SUH JIE 9 o F Ud 9 To dP HTH BT gl

A conference is to be held between US and India. How late can US initiate the conference with India given that it is an hour
long conference? / SFART 3R URA & S T THT AT B S 7 | Tt IR A 3wt URA & 1Y Fithd
SRY B AHAT & Wl DI 1 T0S P Hith gRil

® 8 AM US local time / &g 8 Tol g T &1 VI 0T

® 9 AM US local time / & 9 o I T BT AT THY

® 10 AM US local time / J&E 10 I91 g T HT RIHIG THT

® 11 AM US local time / 98 11 §61 g T &1 WG 7Y
Correct Answer :-9 AM US local time / g8 9 1 g T &1 R G0
15)

Question Stimulus :-

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F ARG
TP AR R 7d 31 3R g9 fou gu 93 &

2. Cis on the immediate right of D / D & ﬁm gife-it iR € 8
3. B is at an extreme end and has E as his neighbour / B ﬁﬂﬁ Gﬂ@?ﬁ% 3R E Mm%

4.Gisbetween Eand F/ ESRFH» &G ¢

5. D is sitting third from the south end / &0 TR ¥ HHR WIH W D 9318

Name the person who should change place with C such that he gets the third place from

the north end. / fd e $T ¢ F AU RIF Iga1 AT, FoH TP IR RR I Tt w718 |
e E
e F
e G
e D
Correct Answer :-G

16)

Question Stimulus :-



Which one of these is the oldest dams constructed in 1010-1053 AD? / Eﬁﬁ T B 91 999
TRMT §1Y fSRI$T 1010-1053 ST § Hwfor fFar war ur?

e Barna Dam / 9RAT di¢Y

e Gandhisagar Dam / it 9FR qiy

® Cyclopean Dam / '\‘I'IB'W'FT Ty

® Tawa Dam/ddl 9

Correct Answer :-Cyclopean Dam / ATSfdbadIg aiy

17)
Question Stimulus :-
In the following diagram. / IEE] an?ﬁrﬁ'

e Circle S stands for households having a scooter;/ 95 S 3+ URAR! &) gxiiar 8, o ® ™
e E

« Circle T stands for households having a TV set; / 9d T 37 URARI &I g2iiar 8, 9 U™
ad g1

¢ Circle W stands for households having a washing machine; / 91 W 349 TRari &1 ESZTT?IT %,
o U Tl w=ie 21

« Circle C stands for households having a car. / < C 39 URaRI &I g=0iar g, o TR R B

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / &9 ¢: S ¢: 3IAT-3eN] JGATY

aﬁﬁqﬁamélm%m 59331 11,12,8,9,10 3R 6 & HY &I gxIidT gl

Households having scooter, TV set and washing machine and not car are represented

by the region. / 3 URaRY, & U Wper, &4 3R arflin w=hi+ g afea o =381 ¢ 5 & gt
<uifar T @

(8)



e 4
e 7
e 11
e 12
Correct Answer :-12

18)
Question Stimulus :-

The Supreme Commander of the Armed Forces is / IR Il & gar=T J-Temed % :
® Field Marshal / &-1T ST T U (HER
® Chief of the Army Staff / I-TT WIE

® The President / Tl'gqﬁf

® Prime Minister / THT H3AT
Correct Answer :-The President / Tl'g'qﬁf
19)

Question Stimulus :-

If alphabet B is at bottom face, which alphabet will appear on top face? / Iie 3R B ﬁﬁlﬁmtﬂ'%, Gikc i G|
TR DI T 31&R IufRAd g2

Correct Answer :-E
20)

©)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fawey gHT
it AT T Syl vd fAewul & 9 § 9l g

Statements: / ®Y-:

All paintings are drawings / Tt i et &
No drawing is a picture / ﬁé W\T\‘ﬁ?qﬁ%
Conclusions: / A

I.No painting is a picture / &5 RIF TR T @
II.No picture is drawing / &3 aR REHR 781 8

® Only conclusion | follows / Wﬁ'@ﬁf I fFrepadar %

® Only conclusion Il foIIows/Wﬁ'Wﬂf GEZSGI %

® Both conclusion land Il follows/?a:ﬁ foreed 1 GﬁT I e %

e None of the conclusion I or II follows / Y I WMII A A H1E 81 Fpaar g
Correct Answer :-Only conclusion I follows / Faa f~reey 1 Headr %
21)

Question Stimulus :-

Vikas is taller than Sham but shorter than Umesh. Umesh is taller than Rajat but
shorter than Ganesh. If Shyam is taller than Rajat who is the shortest among all? /

oI <uH 9 |91 8 W SR ATe1 8 | SHY IS 9§ da1 8 WR TR 1T 81 3R T I9id 9 daT1 8 al
T A HIH AT B 82

e Ganesh /U

e Umesh /39%

®* Rajat /vld

* Vikas /fdq&ma
Correct Answer :-Rajat /Iold
22)

Question Stimulus :-

The Rural Sanitation Initiatives under ‘Namami Gange’ Programme has been launched in which state of India? /

THTH T BRIHH & dgd ATHIU Ta=3dT B Ugd HIRd & fohd IT & I TS 82

(10)



e Bihar/fOBR

® Uttar Pradesh / SR Wo=T

® Jharkhand / IRES

® West Bengal /qfél'q CUIG]
Correct Answer :-Jharkhand / IRES
23)

Question Stimulus :-

Kaziranga tiger reserve is in / BTSRRI 979 HIRUY 'QE}[' %:
® Arunachal Pradesh / SSUIMRIA TI%QT
* Bengal / STl
® Assam / 39H

® Jharkand / YIREUS

Correct Answer :-Assam / 3dH

24)
Question Stimulus :-

Who acts as the President of India when neither the President nor the Vice-President is available? / STd ?quﬁl

T IJUXTPUR 1 & SUesy 81 §Ha 7, A YR F IPufd & =0 § B9 ST el 32
® Speaker of Lok Sabha / D T el
e Chief Justice of India / HIRd & Y& <ATI[dl
 Auditor General of India / HIRd & ﬂ’s’lﬁw&lﬁ
® Senior most Governor of a state / XIS & &Y Y IqUTA
Correct Answer :-Chief Justice of India / HIR & BT =TTl
25)

Question Stimulus :-

Who has been awarded Rajiv Gandhi Khel Ratna Award — 2013-14 / NEICKID RCLEC] YREDTR - 2013-14 J
fperent Tarer T

(11)



® M.C. Mary Kom / TH, 1. 7 w1H
® Vijendra Singh / foo=sRig
* Sushil Kumar / R $AR

® None of the above /B'Cléaﬁﬁ g ﬁéﬂ'ﬁ?r
Correct Answer :-None of the above /mﬁ Jq PIS a1

26)
Question Stimulus :-

Find the word that represents the category of the following three words. / dg R« 3Id PIfor
it fr i real ot Joit 3 gfaT @

Cap, Coat, Trousers / atﬁ, Hﬁ?_', te
L Smart/F:I'I_c.F
* Shirt/ HHIW
® Dress /ﬁw
® Tailor /a'\?ﬁ

Correct Answer :-Dress / UI=IT®

27)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term./ 7% 7% ¥, 1gd &Y Ul & & <l wpR &1 B oy {| et & @ <t ug gHa
forTeT IR Ug & 1Y Sl UPR &1 HaY ]

K/T:11/20::J/R:?
e 10/8
e 10/18
e 5/9
e 11/19
Correct Answer :-10/18

28)
(12)



Question Stimulus :-

The major city that Kshipra passes through is__. /T® UHd RER o R Td ﬂTrchﬁ gl
® Ujjain / &I
° Morena/'{-ﬁ_'ﬂ
e Gwalior / T@TTRAIR
® Sagar /U
Correct Answer :-Ujjain / 3%I9
29)

Question Stimulus :-

The Tawa Reservoir is nestled between the / 9@ SIaRA A= & 99 918

® Satpura national park and the Bani Sanctuary / Hd4ST ?Tsa'q IS 9 9T SIRTY

e Kolar and the Halahi dam / SIdR 9 gdal 9iY

® Rani Avantibai Sagar and the Sukta Sagar / T sia?ﬁa@ AR T4 GRiT AR

® Vyarma and Barna rivers / SIRHT d dAT T4t
Correct Answer :-Satpura national park and the Bani Sanctuary / TSI ?T@'q IS T T WRUY
30)

Question Stimulus :-

Anil remembers that his father’s birthday falls after 15" of Jan but after 18" of Jan,
Dolly the sister of Anil, remembers that her father’'s birthday falls on any day between

16" of Jan and 19" of Jan. Find out on what date the birthday of Anil’s father will fall. /
3frer 31 g1e 8 fop ST fUaT @1 S=afed 15 a3 & 916 USdT 8 WR 18 STHG3} & UYTd Siell, St 3rf<ra &t
T8 8, B TS ATaT P ITS fUaT BT SIS 16 ST 3R 19 Sia3] & FHg § ugdr g1 a1 «vme fF srfva &
far =1 safeA fore feTies wR usTmi

e 16t Jan / 16 SFEN

e 19th Jan /19 SHa

e 17th 3an /17 5Fast

e 18th 3an /183 59aH

(13)



Correct Answer :-17th Jan / 17 598l

31)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / <l & ARG 3R I A T & yd® 9ieR &I Hwaifed foar T 8] 98
fawer g o afe Treg Y w1 & o Gl & wu § 3eR) &1 gl 3w 3T B

TIRBHG

123456

1,3,2,4,6,5

3,2,6,5,4,1

4,3,2,6,5,1

4,5,2,3,6,1
Correct Answer :-4,3,2,6,5,1
32)

Question Stimulus :-

‘Who among the following got the ‘Bharat Ratna’ award, before becoming the President of India? / fada

fraet WRd & IPuld 971 I Ugd 'WRd ¥ REPR fie ur2
® R.Venkataraman /3. dpedT
* Dr. Rajendra Prasad / SI. I UHTG
® Dr. Zakir Hussain / ST. ST Eﬁ?
* V.v. Giri/ a4t Rt
Correct Answer :-Dr. Zakir Hussain / 8. SITT®HR Eﬁq
33)

Question Stimulus :-

Humayun’s Tomb is located at / E'Fl'l'!ia'ﬂ HPdRT qﬁ fRE %:
® Fatehpur Sikhri / W st

® Agra / SWRT

(14)



 Delhi / fei
® Hyderabad / %mﬂ'

Correct Answer :-Delhi / fawi

34)

Question Stimulus :-

Who wrote the book ‘Why Socialism’? / ‘%T&r' TqrifersH’ Y& fpaq ferd?
® Mahatma Gandhi / HelHT e

Jawaharlal Nehru / Sdigedlid ﬁ'{f\s

Jayaprakash Narayan / STOUDIRT TIRTAUT

Bal Gangadhara Tilak / ST TSR IGED

Correct Answer :-Jayaprakash Narayan / STAUDIRT TRTAUT

35)

Question Stimulus :-

CANCELLED

Indore is in the meeting place of rivers__ ./ E'a'\", _T'I'ﬁ'fﬁ P TTH DI W%l
® Narmada and Tapti / qflaT Gﬁ? ?m?ﬁ
® Sindu and Shipra/ ﬁ?ﬂ 3 farm
® Shipra and Ken / R 8fik &

® Kanha and Saraswati / PI-gl Gﬁ? TRl
Correct Answer :-Kanha and Saraswati / ®T-al 3R FREdt
36)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, .
share a common similarity while one is different. Choose the odd one out. / IBCRE] ﬁ,

%Wﬁﬁm@%wﬁﬁﬂﬁ?,ﬁmﬂ,mwaﬁ@w,mﬂ?wﬁ?wm% | fwe a3t
|

e HGF

(15)



e XWV

e NML

e OPQ
Correct Answer :-OPQ
37)

Question Stimulus :-

Who wrote “Mother India”? / “HeR sfear fram fadt &2
® Lala Lajpat Rai / TITaIl <TSTUd T
e Miss Katharine Mayo / 1 $ART a4
e M.K. Gandhi / TH.%P. T¢I
e Pt. Jawarharlal Nehru / Uf&d STaTeRard Ag®

Correct Answer :-Miss Katharine Mayo / 7 39 3t

38)
Question Stimulus :-

Which religion did Ashoka convert to towards the later part of his life? / 3T Sifaq & Sifad R § |yTe
e A fooa o 31 sro=ma ur?

® Bahaism/'d'ﬂ'lg?-lfl
e Jainism / SI< &

e Sikhism /@ &
e Buddhism / S U+

Correct Answer :-Buddhism / 95 Y

39)
Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. The
rotator is stationary and someone cried, then phone must be turned off. /Wﬁmﬁ

37 fopam T B, ot afe His Aar 3 a1 e gHAT 81 e fRR § 3R #1F 41 §, 9 Wi &R ¢ g |
e True / 9&!

(16)



e False / Tdd
e Maybe / B 9&dl g
e Irrelevant / UERT®

Correct Answer :-True / 9gl

40)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe gﬁ?
it fRE 7T $YHY vd fArewul & v § 9 21

Statements: / ®Y-:
All roses are lilies / 94 a9 foreft &
Some roses arered / P9 9 old g
Conclusions: / e
I. Some lilies arered / $9 ferett e %
II. Some red are lilies / $© aTa forelt &
® Only conclusion | follows / Wﬁ'ﬁﬂf I Freerar %
® Only conclusion Il follows /WW MREZIGI %’
® Both conclusion land Il follows/azﬁ e 1 Sﬁ? II fFoad %

* None of the conclusion I or II follows / Y I T II # A B3 g1 Fpaar g
Correct Answer :-Both conclusion I and Il follows / @il f=rs® Y I 3fiR II feed €

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In the sequence shown below, which figure comes next? / -d fdWr” T4 w4 & 3rTelt 3Mpfa
P9 { g

REIS R

(17)




® @ & O

m
\
Correct Answer :-

2)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 5 Uy ¥, TN Y@ & U Ug TAd §| TAd UE A SIv™| 56,72,90,110,132,150

e 150
Correct Answer :-150
3)
Question Stimulus :-

The sum of three numbers is 672_and these numbers are il‘.l ths ratio of 5:4:7. ]
What is the third number? / dF JEI13M T 1S 672 § 3R A BN 5:4:7 & 3Jurd A
=1 TR O w1 82

(18)



* 604
* 394
° 494
° 294

Correct Answer :-294

4)

Question Stimulus :-

On selling tea at Rs. 40 per kg, loss of 10% is incurred. Calculate the amount of tea sold, if the total loss

is 807 / 40 3TY Ufd fohell TR <A@ §= W 10% BT THH g3 &1 S0 §5 1T B AR P 70T B3 A Pt
JHaH 80 82

e 20kg / frar
e 19kg / fral
e 18kg/fal
e 17kg/ fFar
Correct Answer :-18kg / f&al

5)

Question Stimulus :-

2 ] 5 2 -
[t02-011 12 -0 2]t 2 (102 —0 112112 —0 2]t 2
simplify: _°  _° 0 ¢ /@m0 > 5.
11
° 4
. 2
° 3
o Noneofthesel%?ﬁﬁaﬁ%qﬁ

11
Correct Answer :- 4

6)

(19)



Question Stimulus :-
What will be the next term in the series? / §&a T 3FTAT UG FIT FRIT?

arm, bed, car, dog, ear, fox, gun, hen,
® egg
® ink
® pen
® men
Correct Answer :-ink
7)
Question Stimulus :-

If STARE is coded as 68234 and VAIN is coded as 5291, how will RAVINE be coded? / Tf¢ STARE I 68234 & PIfad

fpaT SITaT @ 3R VAIN BT 5201 | HIfSd fHar SITar €, a1 RAVINE B 9 HifSd fHar smam?

® 326918

® 325914

® 328514

® 238154
Correct Answer :-325914
8)

Question Stimulus :-

In a certain code ‘salt pan owners’ is written as ‘deje jede deej’ ; ‘owners of house’ is
written as ‘eedje deej jeed” and ‘club house member’ is written as ‘jeed doje jode' .
In that code the word ‘of’ is used for : / & WY HIS H, ‘salt pan owners’ & ‘deje jede
deej’ foran s 8 ; ‘owners of house’ Ca) ‘eedje deej jeed’ ferar wmar 8 @R “club house member’
P ‘jeed doje jode’ fRar ST 8] SH Fis H Weg ‘of’ TP forw UANT fvam SIRRM

® eedje
® deje
® deej
® jede

(20)



Correct Answer :-eedje

9)
Question Stimulus :-

The length of the bridge, which a train 210m long and traveling at 50kmph can cross in 27sec is / 50 fot ufa oe ot

Tfa & @ areit 210 H Gl TP oA 9 B 2796 A UR IR Gddl 5, J B aarg gl
* 200 m/ 200 9t
* 180 m/ 180 Hi
e 175m/ 175t
* 165m/ 1654t
Correct Answer :-165m/ 165 Ht

10)

Question Stimulus :-

40% of the girls in a class are NCC cadets. The class has 50 students. Girls from 30% of the class. How many girl NCC cadets
are there? / Th HEI T 40% ﬂgﬁﬂﬁ NCC ST %] Pem d 50 ﬁ'ﬂT?ﬁ%l FeTH 30% E@W%l ot
asfeHar Nec Hee 72

e 20

e 15

e 6

e 35
Correct Answer :-6
11)
Question Stimulus :-

CANCELLED

A pipe can fill a tank thrice as fast as another pipe. If both are opened together then the tank is fill in 36

min. The faster pipe alone can fill the tank in / wmﬁw%ﬁmv@ﬁaﬁ&neﬂqwﬁﬁ W
Thdl 21 afe Sl &1 Ty | =°1q far oan 8 @ S 36 fe # WR 9161 81 99 i a1 UiRY 3 b B
T I | W 9Har §

e 24 min / 24 ffFe

e 28 min / 28 fiAe
(21)



* 30 min / 30 fiFe

* 35min / 35 fiFe
Correct Answer :-24 min / 24 ffFe
12)

Question Stimulus :-

In a certain code ‘New age school’ is written as ‘kom fedal fena’; ‘Old age company’ is
written as ‘sena fena zena’ and ' top business school’ is written as ' kom pom dom’. In
that code the word ‘new’ is used for : / f&dl @™ ﬁgﬁ, *‘New age school’ ®1 ‘kom fedal
fena’ foran =i @ ; 'Old age company’ P ‘sena fena zena’ forar Siam € 3T top business
school’ &1 * kom pom dom’ @l SIET | 39 B8 A W *new’ BT YA ST U forar sirar &

® fena
® fedal
® sena

® zena
Correct Answer :-fedal
13)

Question Stimulus :-

What is the average of first five multiples of 3? / 3 & Ugd Ud IgIUN $T fiTd T 8?2
e 3
e 9
e 12
e 6
Correct Answer :-9

14)
Question Stimulus :-

If 6x+10y=58 and x+y=8, the value of x & y are / g 6x+10y=58 3R x+y=8, @ x 3R y
FUAAT

e 55,25

(22)



e 52
e 1,0

* None of these / Eﬂ'ﬁﬁ Eﬁ'&‘ﬂﬁ

Correct Answer :-5.5, 2.5

15)
Question Stimulus :-

If alphabets are encrypted as numbers, which one of the following is the value of H+B+F?

/ e eR B! T@mei & ¥ § ey 5 man g, & 9 § ¥ $19 91 TS H4B+F &1 AF 8?2
e 20
* 16
° 17
e 15
Correct Answer :-16
16)

Question Stimulus :-

An integer is chosen at random from first 75 positive integers. Find the probability that the integer is a multiple of 16
or 9? / U JUIT® UGH 75 AHRTHD YOG o SAT-RRa &1 o1 91T 81 F1 GHTa 8 {5 quife 16 ar o @1
T[T 82

* 3/25

e 4/25

e 1/5

* 6/25
Correct Answer :-4/25
17)

Question Stimulus :-

In a certain code language RADIO is coded as SBEJP then in that language TELEPHONE is
coded as: / &l @ Tidfaw HaT &, RADIO &1 SBEJIP ¥ difsd farar widr 8 ot 39 Hem &
TELEPHONE &1 B9 ®ifsd far smam:

(23)



® UFMFQIPOF
® UFMFQIPMF
® UDMDQIPOF
® UFMFQIPOD
Correct Answer :-UFMFQIPOF
18)

Question Stimulus :-

In how many ways can a garland be formed from 10 different flowers? / T HAHIT 10 faftrs W BT TGN D
e adie! # 99T S Wt 87

e 10!

° 9

e 1/210!
* 1/29!

Correct Answer :-1/29!

19)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 33 T IR ual & & 2 R T 1d & S 9= S+ 41 v 81 272

Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

(i) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

(ii) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

(24)



Eversholt Street NW1

(iii) Regent's Park surgeries
Feb 19, 2010
Crowndole Center,

Eversholt Street NW1

(iv) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

Correct Answer :-iii

20)
Question Stimulus :-

If x% of y = z, then what percent of z is x?/ qﬁ y Pl x% =2z, ?ﬁzmmmx%?
* v2/100
e y/100%
* 100%/y
* 100/y?
Correct Answer :-100%/y

21)
Question Stimulus :-
9 -8x2+16="7?

e 9

e 18

(25)



e 25

e 0
Correct Answer :-9
22)
Question Stimulus :-

Complete the series choosing the missing letter: / AW &R AR STAT B TR BIfOIT:

C,_,ILOR,
e F
e E
e G
e H
Correct Answer :-F
23)
Question Stimulus :-

CANCELLED

The cost of an article is Rs 9504 after getting 15% discount. What is the original price in

Rupees?/ 15% &1 @¢ & 91 TH a3 P! HIAd 9504 g1 URMASG Hivd $u¢ § &7 32
® 10700
* 10900
® 10850
* 10800
Correct Answer :-10800
24)
Question Stimulus :-

Find the odd one out / fAYH T=T 14 HIfoC:

2,3,5,7,9,13

(26)



e 7

e 9
Correct Answer :-9
25)

Question Stimulus :-

Two trains of equal length are running on parallel lines in the same direction at 46kmph and 42kmph. The faster train
passes the slower train in 180sec. What is the length of the each train? / SRTdR ?ng &I ?ﬁ aﬁ AR Uil ®
T B fomm & 46 fpei/der ok 42 fopeft/der ot nifer & 91 3t €1 a1 7ifer & == aredt 3 <t 277 &t 180
TP A TR Fdl 81 TAS o DI GaTS [Past 82

® 90m /90t
* 120m/120H}
® 100 m /100 T
® 80m/80Hl

Correct Answer :-100 m / 100 HI

26)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / o GI'ITI%I’ @ 91 & o
a9 G 1 A6 fpa- dieht va@rsi # sraxaewar g

LN

A

(27)



e 11

e 13

e 15
Correct Answer :-15
27)

Question Stimulus :-

The product of largest 4-digit and smallest 5-digit number is: / Ty a?.ﬁ 4-3(%F B =T 3R I DI 5-3(F
Pt AT BT UGS R

® 9990000
® 9999000
® 99990000
® 99900000
Correct Answer :-99990000

28)

Question Stimulus :-

A man bought a bag of rice weighing 30 kg for Rs. 420. He sold rice in the retail market at Rs. 15.05 per kg. What was his
profit percentage? / T® 3ATGH! 30 fHERITH ao= dTaT A1ad 1 TH AT 420 Fo § Wieal §| 39 15.05
U vfa fehmy @t o3 A WeT 9ok A Irad 99 faar 3usT a1y wiawrd om ur?

e 10
e 15
* 7%
e 14
Correct Answer :-7%

29)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T2 & TE kg ieRl U TSN BT IHH WANT HRdl 8| Tad TaeH ygar-d|

(28)



(i) X9885Y32032
(ii) X9845Y32032
(iii) X9845Y32032
(iv) X9845Y32032

° i

o ii

o iii

e iv
Correct Answer :-i
30)

Question Stimulus :-

Complete the series choosing the missing number: / fAQW IBAT TAHR 9TaT B TR BT :

1,2,5,10,17, _
e 21
® 19
* 26
® 29
Correct Answer :-26

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Budding, Binary fission, Multiple fission etc are types of

fags anfe fras yoR 82

Sexual reproduction / T JARedTG
® Asexual reproduction / ERIRIGE Ya=digd
Fertilisation / 9=

® Metamorphosis / BTITAROT

(29)
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Correct Answer :-Asexual reproduction / 3rafe gI=dred
2)
Question Stimulus :-

{87 ={a—5T

® A4ab

- ot

=|a

+b" |

2.[:.&: +5°

2fa” +57)
Correct Answer :-

3)

Question Stimulus :-

The poisonous gas produced from incomplete burning of fossil fuel is / EICIE] g?Ff & GI'QR Sidq & HRUT 39U E_'éc

fateft Aw 8
* Oxygen / Sfifode
® Hydrogen / BTSSISH
e Carbon dioxide / PId] STSATHATES

® Carbon monoxide / ﬁﬁm
Correct Answer :-Carbon monoxide / PIa- I | A

4)

Question Stimulus :-

If A = 45° 2sin A cos A = / af¢ A = 45°, 2sin A cos A =
® cos2A
* sin’A

® sin 2A
(30)



* cos22A
Correct Answer :-sin 2A
5)
Question Stimulus :-

The process of fusion of the male and the female gamete is called / 7 IR 3R HIal gHD & gAY I ufspar

® Polination / URTITOT

® Fertilization / TS

® Seed formation / e fafor
® Reproduction / JR=dlgd

Correct Answer :-Fertilization / fFO9==
6)
Question Stimulus :-
A magnifying glass is a / T 3ade & giaT © -
® Convex lens / Id o
® Concave mirror / aaaaz&m
® Concave lens / 3[qdd a9
e Convex mirror / WE&UT
Correct Answer :-Convex lens / 39d a9
7)
Question Stimulus :-

Which slogan is best suited for supporting the prevention of Environmental pollution? /ﬁq T 9RT ygiaRur

TGOl Bt AHUTH W TeTadl & fou Ta Sifirs Sugad &2
e Use as much of plastics as possible. / FSTaHT HYT g1 I+ 3if¥F wiiRe® &1 IUART FHRA |
® Say no to plastics. / WITRE® I AT Hg
® Use plastics— anywhere and everywhere. / W& ® & ITART H3- Hal HI iR woft oft

(31)



* Plastics — the wonder material of the world today. / WIRC® - 3T B AT BT MATTTD
ety

Correct Answer :-Say no to plastics. / WReP Bl AT ﬁl
8)
Question Stimulus :-
Sliding friction is always / gftfer afor wda %ﬁ?ﬂ% :
¢ less than rolling friction / e gy § HH
¢ greater than rolling friction / S YT § 3ifre

e equal to rolling friction / dea gy & JHH

e greater than static friction / Rfd® Tfor I aifdew
Correct Answer :-greater than rolling friction / e gy ¥ Siftre
9)

Question Stimulus :-

You must complete the course of antibiotics, prescribed by the doctor. Why is this statement important? / 3T

Fafrae gr1 Fuffva tderifes o1 S s~z W1 w31 =rfee| a7 arer ) St 82
® Doctors are authorities in prescribing medicines /EaT\’rﬁ ¥ fHulRor § Rifecs uftert %

® Wrong doses can make the person resistant to that antibiotic / Tdd ¥RI&H iR B 39
tdarifes &1 gfRid 5= APt @

* Antibiotics should not be wasted / GSIGTAI P I TaTg T3] AT ST AIQY
® Useful bacteria may not grow / It \—rﬁaT(ﬂ P faerT =8) ghm

Correct Answer :-Wrong doses can make the person resistant to that antibiotic / ed

TRIP AfRT HI 39 TR ® &1 ufadd a1 Il 8

10)
Question Stimulus :-

Answer the questions that follow based on the following data: / Fafeifad 31 & MYR R M
IR BTG RCCIC K

(32)



CTC perannum Basic = 15% of CTC /&G =
of an emplovee! FIETET FT15 T

UF FATNT T
Year/ weiE T Hr HRA = 7% of Basic/ tgaRT =
g9 HIEET dTf0e &7 widhrg

2005 500000 Assume the employee submits
2006 580000 house rent receipts equal to the

HRA /UHT AT oF T domrr
HY i TR T TG TN
2008 620000 5 T a3

2007 700000

House rent in 2005 = Rs.63900 /
g T T =6500 TIIT

Given that the house rent from 2005 till 2008 has increased at constant rate of 5%,
which year has the employee been able to save the maximum in his HRA? /3 ST-d §C f&

2005 & 2008 I R BT AT 5 U= &1 fRR & W) 9T 8, HI9 A 99 # HHART 7 U4 TIIRTY &
fpa g9d Bt 72

e 2005

e 2006

e 2007

e 2008

Correct Answer :-2008

11)

Question Stimulus :-

Mercury is used in thermometer because it / UIRT DT ';Rﬂ"T ﬂﬂ'ﬁﬂﬂ ¥ foar sran % Hife g
® Does not stick to the glass / $TT=[ ﬁ fRrawar T-Iﬁ %
It expands uniformly / HHIH U I vTia '[ﬂ?IT %

It is silvery white and can be seen clearly / Ug ?-Iylﬁ ST qbg E:'.'\_CIT % Td Wyd: ST ST JHdl %
® All of the above / SWRIad g

Correct Answer :-All of the above / SURIGd T}

12)

(33)



Question Stimulus :-

The value of (53) %is / (53)4 19 gl

o 512
o 51
o 50.75
o 5l2
Correct Answer :-5712
13)

Question Stimulus :-

Answer the questions that follow based on the following data: / Fuafeifad Se1 % YR W M
IR T RS CIE

CTCperannum  gasic = 15% of CTC /478 =
of an employee TIETHT WI15 Wigerd

Year/ wcdw 99 T HRA = 7% of Basic/ 792w =
at e AT F7 AT
2005 500000 Assume the employee submits

house rent receipts equal to the
HRA /0T &1 o Toh shaiamir

Y & TR T TEE TOHRY
2008 620000 & @t EaT &

20086 280000
2007 700000

House rent in 2005 = Rs.6900 /
HY T Th{ET  =6900 T

If a performance bonus (8.33% of CTC) is given to all employees in retrospect from 2006,
what is the amount that the employee receives? / 2006 & Jdidl®d & U Ul HRIG AT ATy
oY f& RN +71 8 . 33 yfawa & THST FHARG! &1 far Srar § O SHIR &1 341 AR ure g

e Rs.158000
® Rs.165769
® Rs.173450

® Rs.174930

(34)



Correct Answer :-Rs.174930

14)
Question Stimulus :-

Which of the following statements is true? / ﬁ'H T Eﬁq Gl Y- ﬂﬁ %?

® log,x =0, for all values of x / log,x =0, x F gt 9 & f?fE

® log,(xy) = log,x + log,y

® log,x = logyx, for all values of aand b / log,x = logyx, a 3ﬁ? b & I Al & ﬁ‘l’Q

® log,(x") =alog,x

Correct Answer :-log,(xy) = logx + log,y

15)
Question Stimulus :-

Answer the questions that follow based on the following data: / Fufefad a1 & MyR W M
CINR TGRS CIE

CTCperannum  Basic = 15% of CTC / 4@ =
of an emploves! - e -
bies HIEHT F15 Ficerd

TF FATNT F
Year/ wed® 99 @7 HRA = 7% of Basic/ TazmRT =
C LB a1 AT0e F7 9iRd
2005 500000 Assume the employee submits
2006 580000 house rent receipts equal to the

HRA ; UHT AT o T seanr
HY o TR hT IO TTEET
2008 820000 & e &

2007 00000

House rent in 2005 = Rs.6900 /
HY Wl TR =6900 T

If the overall hike %age is 11% across the company in 2009, what would be the
minimum salary of the employee? /3¢ 2000 & Hr ¥ wrguf Feiadt 11 ufa=a g3 8, @ HHAR)
BT GAdH Ja FT SIM?

e Rs.900000

® Rs.910200

(35)



* Rs.920000

e Cannot be determined / JTd ST&! fHAT ST AHaT
Correct Answer :-Cannot be determined /JTd =gl faT &1 AT
16)

Question Stimulus :-

In an examination, there are 3 papers of mathematics of 100 marks each. A girl secures
70% in the first paper and 80% in the second paper. In order to secure 80% in the
aggregate the percentage of marks she should secure in the third paper will be: / T® qtedm

#, 100 3% Ufd TR F MG F 3 TR &1 TF ag! 4 Ugd TR A 70°/oqa§1=|°\fﬁ80%%3ﬁf%ﬂ%qn
@ﬁﬂﬁSOO/ogﬁ@amﬁ%ﬁqaﬁmﬁwﬁﬁmmmﬁﬁ@am

* 90%

* 80%

® 75%

* 70%
Correct Answer :-90%
17)

Question Stimulus :-

If 7:x=17.5:22.5, then the value of x is: / ”Cﬂ% 7 :x=17.5:22.5, dd x BT HIH %:

Correct Answer :-9

18)
Question Stimulus :-

If the radius of the base of a right-circular cylinder is halved, keeping the height same, what is the ratio of the surface

area of the reduced cylinder to that of the original one./qﬁﬁa qﬁhé?ﬁ% SR B B & amer Wﬁ'ﬂT
m,ﬁvﬁé’aﬁwr@m,aawéa#%q@a TP BT g dod & GHIT &% d |
Siqurd

(36)



Correct Answer :-1:2

19)

Question Stimulus :-

Which among the following options is not true for a Chemical change ? / o 9 § 919 91 faew Imafae
uf¥ed & forg w18t 82

Generally there is an energy change after the reaction. / JTHISI ¥=J T srfiferar & uyTa Solt &
uf¥ad giaT 7l

Properties of products are different from properties of reactants. / IdE! & 1IUT‘EH-£|
AP RST & o I i g1 g1

Most of the chemical changes are irreversible. / 3(T@dR ITA® UfadT AJepHNT A B
No new substances are formed. /aﬁé T8 yerd &1 fAmtor 9gY giar 2|

Correct Answer :-No new substances are formed. /Eﬁ‘s‘ Eo| tlaT?f 1 ferafor CHil @?IT %I

20)

Question Stimulus :-

In extreme cold countries people do not wear just sweaters but they wear layers of warm clothing. This is done

bec.ause/mmmﬁmquﬁwa%aﬂmﬁﬂﬁwa ﬂgm\?ﬂ?ﬂ%

Friction between the layers of clothing produces heat. / I B WRdl & dH BT YT SHEAT IAUA
AT 3

Air trapped between the layers of clothing is a bad conductor of heat. / T B Rl & =" % Bdl ST
$1 HaTAP Bl 3

Wool used to knit sweater is a conductor of heat. / WX §7'ﬁ & for TT 91 S 9Tl S5 SSHT BT
AP 8

Air trapped between layers of clothing is a good conductor of heat / I| B WRdl & a4 % edl ST
1 gATaP el 8

(37)



Correct Answer :-Air trapped between the layers of clothing is a bad conductor of heat. / I B Wl b
dH ¥ gaT ST T FATOD gl 8

21)

Question Stimulus :-

Answer the questions that follow based on the following data: / Fufefad a1 & YR W M
CIGR TG RECIG K

CTCperannum  gagic = 15% of CTC /&Taw =
W i
of an emplovee S -

T FAAN &
Year/ Wciw @y & HRA = 7% of Basic/Tazmia =
ao e ATHSR 17 Hiderd
2005 500000 Assume the employee submits
2006 580000 house rent receipts equal to the
HRA /T & & T sefandr
2007 700000
=Y TR ST THE TOHET
2008 820000 & T EaT &

House rent in 2005 = Rs.6900
HT T AT =6900 T

In 2009, if the rent of his house increases from 8000 to 9500, \_Nhat salary should the

employee get inorder to adjust this as part of HRA? /afe 2009 H FHART & TR BT fHrar soo0o

T I¢H 9500 Bl ST Y HHART &1 febar a4 firar =nfee f9a o 3 vasme & a1y & gHraferd 8
?

GITg?
e Rs.900000
®* Rs.950000
* Rs.905000
® Rs.895000

Correct Answer :-Rs.905000

22)
Question Stimulus :-

Which of the following pair of teeth help in chewing and grinding the food? / ffed CaEk: | Gid &l gy Wior=
B TaH 3R AU HI | Tag Hd o2

® Canines and incisors / IGT® 3R HdD

(38)



® Molars and premolars / Tquie 3R SRIGUIE
® Incisors and molars / Waﬁ? Iquis
® Premolars and canines / SIFAUT® 3R NG
Correct Answer :-Molars and premolars / TqUE 3R SRIGUIH

23)
Question Stimulus :-

Stainless steel vessels with copper bottom is preferred for cooking because / PHIR Tl & WAAT Wl & Ui Gl
THH & R udg Y o § Hife

® Copper bottom makes them durable. / PR BT el 3% fewrss AT %’
® Tt enhances taste of the food / 9% W[ & iq 3] del a?ﬁ %

® Copper is better conductor of heat than the stainless steel. / ib_\I:Q?, WA T | ST FT é%a?
AP §

® Copper is easier to clean than the stainless steel. / Eﬁ'lﬂ, WA T A TP HAT T %

Correct Answer :-Copper is better conductor of heat than the stainless steel. / PR, wIag Ta g
ST BT IgeR AP ©

24)
Question Stimulus :-
AABC ~ ADEF and their areas are 64 cm?2 and 121 cm?, respectively. If EF = 15.4 cm, find
BC. / AABC ~ ADEF 3R 3% &9%d $HT: 64 9HI2 9 121 T2 €1 afe EF = 15.4 991 €, 9l BC 9
A

® 11.2c¢m /11.2 9HI

® 15c¢m /159

® 11¢m/ 113wt

® 12.4cm/12.49H

Correct Answer :-11.2cm / 11.2 I

25)

Question Stimulus :-

(39)



Why is Silver used in making mirrors, which we all use in the dressing room of our

homes ? / IR W & §TIR ®& & g9 9t & gRT v g aral guor & fmfor & 91dt a1 v &7 ot 82

® because Silver is more malleable and ductile and shines. / e a‘r’zﬁ 3P TaTdad Td 99 T4
TIHER gl

® because Silver is cheaper than gold and readily available. /m ?ﬁa TN | It % 3R M ¥
S gl

® because the surface of Silver is a good reflector of light /'élzh"ﬁ? ﬂﬁ ) Tdg PR Bl I WD
gl

e because Silver does not react with air and water. / T FTdl I 3R T & Y HiApar
T8 Bt 21

Correct Answer :-because the surface of Silver is a good reflector of light / AP TSt B Tag TbT=r B
B! WA gl

26)
Question Stimulus :-

If the shaded region AOB is a quadrant of the circle, then LAOB = / af¢ Saifed &= AOB, qd T T:lﬁ?-l'f-'{[
%, df LAOB = %l

e 90°
e 80°
* 180°
® 100°
Correct Answer :-90°

27)

Question Stimulus :-

The radius of a circle with area 154 cm? is /9 I am 154 THI2 %I It B gT"ﬁ

e 49cm/ 49 9H}

(40)



® 24.5cm/ 24.59H
o 7cm/7ﬁ1ﬂ
® 14cm/ 149H

Correct Answer :-7 cm / 7 9Ht

28)

Question Stimulus :-

Metallic rocks are called / HTf® A HgaTd &
* Gangue / T
® Slag / UTgHA
® Flux / Tl
® Ores / 3UIDH
Correct Answer :-Ores / 3U¥P
29)

Question Stimulus :-

Answer the questions that follow based on the following data: / fFHfeiRad Se1 & MYR W 34
qTe WYl BT odE ¢

CTCperannum - gasic = 15% of CTC /&8 =
of an employee’
pioy HIET H15 qided

T FAAN &
Year/ wode 9 §T HRA = 7% of Basic/ Ta3iRT =
au - fERd T8 &7 Fieerd
2005 500000 Assume the employee submits
2006 580000 house rent receipts equal to the

HRA /UHET AT o T domr
HY o TRET T 38E T9ET
2008 820000 & TET 5T ¥

2007 700000

House rent in 2005 = Rs.6900
Y T TRGAT  =6900 T

Which year has his hike %age been the highest? /g add aaﬁ?r?r ufa=e 99 3rfee §§ B

(41)



e 2006
e 2007
e 2008
e 2009
Correct Answer :-2007

30)
Question Stimulus :-

To prepare a conducting liquid, which of the following should be added to distilled water?

/ AP 4 &1 Haf o= 8, B § 3 fras! omga 9a & 9y fBamn aike?
® Alcohol / UEHIGTA
® Honey/X8G
® Acid or base / 3% T &RP
® Sugar /Tl

Correct Answer :-Acid or base / 3 9T &R
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